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PHYSICS & CHEMISTRY

The plots of intensity of radiation versus
wavelength of three black bodies at
temperatures T,, T, and T;are shown

Then

AW T>TL>T, 6B T, >T>T

€O T>T,>T, 0O L>TL>T

In absence of an external torque on a
system, which of the following will not
change?

{A) Both Linear and Angular momentum

(B) Neither Linear momentum nor Angular
momentum

{C) Linear momentum

(D) Angular momentum

With rise in temperature, the specific
resistance of semiconductors
(A) Increases

(8) Remain unchanged
(C) First decreases then increases

(D) Decreases
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A particle travels along x and y axes
according to equations x = 4t2 + 5t + 16

and y = 5t. The acceleration of the particle
must be

(A) 4 m.sec™? (B} 16 m.sec™2

2

(© 8m.sec™ (P) 5 m.sec™2

CH3

The IUPAC name of is

{A) 1 - Methyl cyclohex -2-ene

(B) 3 Methyl cyclohexene

{€) 6 Methyl cyclo hexane

(D) 1 - Methyl cyclohex -5-ene

For the reaction
2503(g + Oyg) — 2505(g). The entropy
{A) Increases (B) Decreases
() Remain unchanged

(D) Change cannot be predicted

The unit of Vander Waal’s constant ‘a’ is
(A atm litre?mol™2 (8) dyne cm*mol ™2

(©) newton m*mol™2

(D) All of these

For the reaction
2H2{g} + 02{%}, — ZHZO{}_}}, which of the

following fact holds good ?
(A) Kp = KC (8) Kp > KC

(© Kp <K

(d) Kpand K¢ cannot be correlated

- I THE FO

x Ty & W
x=4t2 +5t+16 W y = 5p GEIHRON

P JFTAR T BIA & | B BT @Rl
AT A1RY

A} s4g3sw2 B 165 a2

—2

Il

© 8 &3z 2 (D)

GSFELE

CH3

o1 AR AT 9 ?

(A) 1 - Methyl cyclohex-2-ene
(B) 3 Methyl cyclohexene
(© & Methyl cyclohexane
P) 1 -Methyl cyclohex-5-ene
e sifdfeean # =iy

25059 + Oy = 2303¢)
(A) ggft | () Fft |
@ 315 gRee= & BF T |
@) gRET & wiRI=Eh T8 R dwal
arexdid FRdis @ @1 9ee §
(A) atm litre’mol 2

() dyne cm*mol 2

(© newton m*mol ™2
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9.

10.

i 18

12.

Reaction of HBr with propene
presence of peroxide gives
(A) 3 bromo propane (B) All bromide

{€) n-propyl bromide (D) Isopropyl bromide

Which of the following molecules contain
both lonic and covalent bond ?

(&) S0, () CH,CI,

(C) KQSGLL (D) BQC{TZ

The r.m.s. value of the a.c. is equal to
(A) Twice the peak value

(B) Half the peak value

{©) 1 timesthe peakvalue

Y

N

(D) Equal to the peak value

The general Electronic configuration of

Lanthanide is
() (n—2)f""*(n — 1)d*°ns?

(B) (n—2)f1"*(n - 1)s?p®d®tns?

Inductive effect involves
{A) delocalization of ¢ electrons

(8) displacement of @ electrons
() delocalization of 7 electrons

(D) displacement of 7 electrons

in thels9

e @ ofifkar EsSNH dESS @
Ty ReifFEE B SORIRY ¥ R W

I BT ©
(A) 3-gHEr 9 ®) T SHSS
© pYusd SESS

() JEEEAET IS

frefafee empl F @ fewd Qi

RS T GeddSe 9 B 8 2
A S0, (8  CH,CL,

(©  K,S0, ()  BeCl,

. yegTad] gRT B q-Aeg-gel 9 €
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© Brmw 99 &1 L A1
\2

(o) BreR 79 & 98T

—
‘«WETWE@'@WW%

£

(A) 2){0-14&: 134‘3&@.‘5

(8) (H 2)fr 4 (n— 1)s?p 4% 1ns?

© (n—2)f*(n— 1)d* tns?
14,2
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14.

15.

186.

17

18.

19.

The oxidation state of chromium in

Cr(CO),is
{a) -2 (8) 0
{c) +2 (D) +6

Which of the following molecular species
has unpaired electron ?

) 05 (B N,

© 032 () F,

The compound which is commonly known as
Inorganic benzene is )

(A) B,N,H, (8) BH,

(© C,N;H, (0) C;HsB

In Boolean Expression, which gate may be
expressedas Y= A + B?

(A) NAND gate
() OR gate

(B) AND gate
(D) NOR gate

A particle starts executing S.H.M. from
mean position. Its amplitude is‘@’ and
energy is‘E’. At what displacement its

kinetic energy is —?
a

(A)

v = 2

B v Zay

a
J 7

The valve of

—— s

vHpEp

A 3 x10°m/s (B 3 x10*m/s

© 3 x10°m/s (P 3 x10%m/s

18.

18.

Cr(CO), ¥ PR B sffefiaRor srawen

g
(A) -2 (B) o
© +2 (D) +6

= 4 9 o= W eufde Wi
(species) IR Sclag I&UT § ?

A 03 ® N,

© 032 ®  F,

fa Aiffre o aM=Ie: TS I
HET AT § ?

(A B,N,H, ()  B.H,

(€  CyN;H, ()  C.H.B

- gelE diomite § @ | e

Y= AFB oual g
(A) NAND 7 (B) AND 7
(© QR e () NOR 7Ie

ot B E | f5a e w sgd i
ot 3E grfY 2
4
w __a = .
Yy—- J
4
@ __32 (D) _a
¥=c y B
— BT A &
+ HoSg

(A3 x 10°m/s (B)3 x 10* m/s

©3 x10°m/s D)3 x 10® m/s
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20. A parallel plate condenser is filled with two

dielectrics, as shown in the figure. Area of
each plate is ‘A’ metre? and the separation

is ‘" metre. The dielectric constants are K,

and K, respectively. Its capacitance, in

farad, will be

(B) 2€A
t (K; + K3)

{C) E;}A(Kl + Kz) (D) EﬁA (Kl_ Kz)
t 2 3 2

0. TH TR Wie TuIRE R & IR

3 WRidgd Ed ¥ W T | TS wie
T ETGA A Sl OO Wl T A
@ ¢ WX 3, WhEHe PAE K,
dr g, T BRe § aiRar gl

(A) €A

(B) 2€A

(© €A (I\i + Ky

{D) EoA Kl = Kz

21. A particle of mass ‘m’ moves with constant | 21.
speed along a circular path of radius v’ foar v 3 =2 =\ W 9 F &
underr’ft_e action of force ‘F’. It’s speed is i :_?:ﬁ £ o 9 A §
@ g ®) Fmr (a) = B Fmr
\;mr \mr
© [ (o) S c b (D)
i_F_ [P o B ff
m r - r
L N s N A
22. At high pressure the compressibility factor Z| 22 Iz qq TR TUreeal olie Z SXIER &
is equal to (A) . Pb (8) _E}i
{A) . Pb (B) . Pb T RT RT
(€} Unity (D} Zero
Page: 6




23.

24.

25.

26.

27.

28.

The phenomenon utilized in an optical fibre
is

(A) Refraction (B) Interference
(€} Polarisation

{D) Total Internal Reflection

B;oC, H,,is isoelectronic with

(A} By, Hy» (8) None of these

© By, Hi—zz ®) By, H1+2

Air at sea level is dense, this is practical
application of
(A) Avogadro’s Law

{C) Charle’s Law

(B) Boyle’s Law

(D) Dalton’s Law

The correct order of dehydration of alcohol
is

(A) 2° = 1° = 3¢ (B) 1° = 2° = 3°

(@ 3° > 2° > 1° (D) 1° > 3° > 2°

What is the value of
) [pp**] /[C7]?
[Pb+2][2CT )2

K, for PbCl; ?
[PH2T][CI7?
® [pb*] /[2C17]?

The Chemical formula for lron(lll) hexa
cyanoferrate (ll) is

(A) Fey[Fe(CN).], B Fe,[Fe(CN).];

© Fe[Fe(CN),] (@ Fey[Fe(CN).]

25

28.

27,

28.

yereig e 7 = oRegesm swam #
TS ST ® -
(A) IO

(€) gaqur

() quf =IRF IRIgT

ByoCoHy, THRARINS fovd wa & 2
(A By, H, B) 3T F B TEI
() By, H

(8) =T

(€ By, H7

e 9l W 91 9E9 (dense) ® I®

YIRS AN
(A) JETET Af (B) giged of
© Fred ot D) ST &l

Tohied & FIoiellexol &1 W&l H9 ©

W 20> 1° > 3° () 1° > 29> 3°

© 3°>2°> 1° (D) 1° > 3° > 2°
PhCL®P forq Kp (Retaa orer) o

Value |1 & 2
(A [Pb**] /[C17]?

@ [Po*2]2CI7]?

® [PL2*]ICI7]?
) [Ph*] /[2CI7]?

IRRA  ([II) BRIRmTSAWRE  (II) &I
MEANE g3 T

(A Fey[Fe(CN),l,

(B  Fe,[Fe(CN)];

(©  Fe[Fe(CN),]

(®)  Fe,[Fe(CN),]

31804
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29.

30.

31.

32.

[9%)
W

A galvanometer can be converted into a
voltmeter by connecting a
(A) high resistance in paraliel.

() low resistance in series.
(€) high resistance in series.

(D) low resistance in parallel.

Which of the following has maximum |3

lonization energy ?
(A) Ba — Ba* + e (8 Be »Be" + &~

(© Ca —»Ca™+ 2e

(0) Mg — Mg*? + 2e

Phosphorus has the oxidation state of +3 in
{A) Phosphorous Acid

(8) Orthophosphoric Acid
(©) Hypo-phosphorous acid
{D) Meta Phosphoric Acid

When light travels from an optically rarerf 32.

medium to an optically denser medium, the
velocity decreases because of decrease in
{A) Amplitude

(c) Wavelength

(B) Frequency
(D) Phase

By measuring spring balance, A person will
get more quantity of sugarin kg X wt at

{A) Poles (B) At 45° latitude

(0 At 60° latitude (P) Equator

29.

3t

33.

TF gREM @ dieediey d WK
P F U SeT IR §
) TR %9 H 9= URkRE

® soft w9 A e aRkRE

© S HH A 9= ufRE

() FE=R B9 A e ufkRE

e § O fpad oEE ol |ditd
82

() Ba —=Ba"+ e
(8) Be — Bet + e
(© Ca —>Ca™?+ 2e

@ Mg - Mg+ 2e

wepRg e § O e +3 SifRieRo

ST I & ?
(A) BHIEpRY 3+

(®) IR BREIRG I
(€ TrzUl BIEHRY IJFA
(D) Fe] BIEPIRG 3T

ReiT qemm & A W, TF Al b1 fEE
e R Bl x WX A AN Bl A

sarer fAerl 2
(A) gai W

(€ goo wEe W (P) e & R

(B) 450 & W




3. The dimensions of Stefan’s constant is
A MLPT K] (B [ML2T 2K *]

© [M?LT3K?] (O} [MLAT3*K™*]

i
1

beam of 1071 metre wavelength is

(A) 1.5 x 107%°kg — m/sec

(B) 22 x 1075%kg — m/sec
© 6.6 X 107%*kg — m/sec

(0) 6.6 x 107%*kg — m/sec
36. The resultant of two equal vectors is equal
to either of them. The angle between
resultant and a vector is

(A) 120° (8) 180°

© 90° (b} 60°

37. A charged particle of mass ‘m’ and charge ‘@’
describes circular motion of radius v’ in a
uniform magnetic field of strength ‘B’. The
frequency of revolution is
(A) Zmm (B)
3Bg
3Bg

Zmm

3Bg
2mrm
Bg

2um

(@ (D)

The moment of inertia of a ring about one of
its diameters is‘l'. lts moment of inertia
about a tangent parallel to the diameter is
{A) 2] {8) 1/2

@1 (D) 31

The momentum of a Photon in an X-ray|3

¢

34.

36.

37.

38.

e & Fradgie & o §

(A [MLOT3K™]
®  [ML2T2K™*]
©  [M2LT3K%]
(@ [MI2T 3K ]
1o-10 Hex e grell X-fRor #

BIEH BT GIT BA
(A} 15 x 107%%kg — m/sec

(B 22 x 107%2kg — m/sec

(o} 6.6 X 1072%kg — m/sec

) 6.6 X 107*kg — m/sec

¥ q¥IE} &, 99 URUIRY 9 U afew &
T BT BT
(A)  120°

(B) 180°

Q) gQ° (D} 60°

Th JIEARE B, NNdT gaEE mr adn
AT q, B r Bou & R 9 W
THOAE TG & B H T @Y XE

g | aRpwor ot Mgy ©

(A) 2mm (B) 3Bq
3Bg 2mrm

(c) 3Bg (D) Bg
2mm 2mm

T & TH@] T & GEHNR I &
(A) 21 (B) 1/2
© 1 (D) 3]
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41.

42.

43,

Which one of the series of hydrogen | 39.

spectrum is in the visible region ?

(A) Brackett Series (B Paschen Series
(¢) Balmer Series (D) Lyman Series
. A P-type semi conductor is 40.

(A) Positively charged (B) Uncharged
() Negatively charged

{D) None of these

The equation of a wave is 41

y=2sinm (0.5x - 200t)Where x andy

are expressed in cm. and t is sec. The wave
velocity is
{A) 300 cm/sec.

(c) 400 cm/sec.

(8) 200 cm/sec.
(D) 100 cm/sec.

Which one of the following defects in the
crystals lowers its density ? ,
(A) Schottky defect  (B) Frenkel defect \

(©) Interstitial defect (D) F-centres

Which among the following is most soluble | 43.

in water ?

(A) LiCl04 (8) KClO,

(€0 NaClO, (o) CsClO,

Order of Reaction is decided by 44,

(A) Temperature
{8) Mechanism of Reaction

{€) Molecularity (D) Pressure

42.

SESISE! W%@Mﬁﬁﬁ%ﬂﬁ
e Bl T

(A) e Hon () Trgg_ SOl
(© g 2ol (D) aATgEA HON
T p-ersd IEAAD T

") e IRRE () SFafRE

(©) ZEUcHS SR

©) T § BIg T

T @R @l AT
y=2sin7 (0.5 x - 200t) &, @l x IR
y B I A t B YHTS H AR
Bpar € TR BT I ®

() 300 THLRTETS (B) 200 IHLAGTS

© 400 SH.AFve (P} 100 I TS
ﬁﬁﬁﬁ%ﬁ%%ﬂmﬁm

% & 9§ ?
(A) gifes! a9 (8) el Y

(© sRTETE B (SexReREd T)
(D) F-IR '

P § W wEa aRe Sa H M

AR € ?

(A)  LiCl0, (8)  KClOy4

(0  NaClOo, (0 CsClO,
s @ et fufRe & € EXSE

IR
(A) qrqErE

(8) arfyfpar @ fharfafy
() FrorEEdr

(D) T




45.

45,

47.

Arrange the Element S, P, As in order of
Increasing lonization Enthalpy.
(A) S<P<As (B) As<S<P

(C) As<P<S§S (D) P<S<As

The S.I. unit of magnetic dipole moment is
(A} A m? B8) N
Am

() TeslaAm™2 @) Am™?

If in a nuclear fusion process, the masses of
the fusing nuclei be m, and m,and the

mass of the resultant nucleus be m;,, then
Al m;y=my; + m,

B) m; = (m;- m,)
© m; < (m; + m,)

) m; > (m; + m,)

An example of a strong electrolyte is
(A) Sugar (B) Urea

{€) Sodium

(D) Potassium Chloride

45.

47.

48.

el T IENEORE Wl (gof
IH) & BT H S, P, As d«i @l
FqRed & |

A S<pP<As (B As<S <P
© As<P<S D Pp<S<As
TIDR fEHT ST BT TR, A W%
W e ® =

A m;=m +m,
®  my= (m-my)
©  m3;<(m; + my)

(D) Mg = (ml + mz)

79 dEd SYYCT BT SGTENl ©

(A) R (B) qﬁm
© afsgq

(®) JICRRE FRSS




49 In the Young’s double slit experiment with |40. QITY were & g I f§o Y@-Bs
sodium light, the slits are 0.589 m apart. The| & AW #, Y& 0.589 M. g W &l
angular separation of the third maximum| Tfiw Skae &1 F=ig kA ¥ By
from the central maximum will be facemus BFm (R 8 3 = 589 j\)
{given A = 589 A)

(A) sin™* (0.33 x 10%)

(A)  sin™t(0.33 x 10%)

(B)  sin™* (0.33 x 107%)
(B) sin™* (0.33 x 107°)
(© sin"! (3 X 1078)
© sin™* (3 x107%) !
B)  sin7' (3 x107%)
(@) sin™* (3 X 107°)

s0. Which of the following halogens has the|so. fFr & I ®IF & oo TESNH &
maximum affinity for hydrogen ? el R g (Affinity) &A1 87
(A) F, ® 1, TV ® 1

© Cl, () Br, © cl, (®)  Br,

Page: 12




53. The

&, ify= cos 143, then %wi” be

{A) None of these

52. 8 coins are tossed sj

(B) 342

(D) =3

x2/1 %%

multaneously. The | s

probability of getting 6 heads is

A 7
64

(¢ 37
256

centre

(B) 249
256

(D) 57
64

the sphere

x2+y2+zz—4z+6y—82+4: 0is

(A (-2, 3, 5)
© (2,-3,4)

(8) (-2, 3, 4)
(D) (0, 3, 5)

"I y= 2% then iis

) x(2%_ 1)

© 27.]og, 2

. 23%

f[sin.r] dxis

(A) 2

(€) None of these

(B) None of these

(b) 2%
log 2

(B) 1
(b) 0

53.

55.

i T o |
R
"’Tfé' y Cos_lxz, zﬁ- g EDT ":ﬂ:f ?F"IT
A) P T8 {B) 32
V1i—x8
(c) —~q (D) -3
V1—x¢ x2/1 48
8 Riedi o vo wry SBIAT Srar & o
BW 6 WY e g5 IRreer Enft
(A 7 (8) 249
64 256
(© 37 (b 57
256 64

IeT x2+y2+zg—4x+6y—82+4=(}

B B R

A (-2, 3, 5
@ (2, -3, 4

'.qﬁi y= 2%, ?ﬁ

B x(e=_ 1)
@ 2%.]pg 2

?[sinx[dx%

(A) 5

© FE 78

Page: 13

(B) (-2, 3, 4)

®) (0, 3, 5)

a5

dx

B) HF g

(D) 2%
log,2

{B) 4

(b} g

581804




59.

80.

61.

The angle between the two lines
2x = 3y = —zand 6x = —y = —4zis

(A) (B)

i
3

@ (D) O

T
2

The 10t term of theseries2+4+8+16+

{A) 939

(€) None of these

() 836

(D) 1024

f y= 7x5—5x*+3x%4+x—1 then
the value of g is equal to

(A) 420x2 — 120x (B 420x% + 120x

{© 120x2 — 420x (P) None of these

Tﬁe value of

an-t a-b +m_1,h—c 5 B c—alis
- 1+ab 1+bec 1+ca
(A T (8) 1
2
0 (D) -1

The slope of the curve x2y+y2x =4 at
point (1, 2) is

(n 8 ® 4
5 3
© 2 P 5
~3 "8

The square root of Z=-15 + 8iis
(A +(4+ 30) ® +(1-—3i)

(© +(1+4i) (D) None of these

56.

57.

58.

60.

CSCIEl 2x =3y=—%Z 3R
(A) n (B) T_[
3
© 1_{ (b) ¢
2
UM 2 + 4 + 8 + 16+ E7l
1041 95 T
(A) 939 (8) 836
@ @ TE (D) 1024
afs y=7x5——5x"+3x2+x—1,

ar &Y mroaE R

a3
(A) 420x2— 120x (B 420x%+ 120x
© 120x2 — 420x D) BI5 Tl

tan'ia—h St b=¢ s c—a &l
1+ab 14+b.c 1+ca
q9 g
(n T (B) 1
2
© o (D) —
TB xly+yix =6 B Td a5 (1, 2)
W E
(A) 8 (8) 4
5 3
(© (D) 5
3 8

. Z =15 + 8 B I §

W (443D B (1-30)

() (D) B &l

+(1 + 4i)
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52 A fair coin is tossed 6 times. What is the | s TF REF B 6 IR SoTe ST ® |

probability of getting at least 3 heads ?

t A) 11 (8) 3 Q||5]$ﬁ|
1 16 64 A 11 (8) 3
@ 1 ) 21 16 64
g 5 {Q) i (D) 21
18 32
8. The sum of all even numbers between 1 and |83 | gix 151 el & fg ol T
151 s TS BT ghr
(A) 5700 (8) 5800 (A) 5700 () 5800
(©) 5900 (D) None of these (9 5900 D) FF &

o
= 64.

64. . 4 RE
- Thevalueof [ 5574 & __j will be

§
*

(61 + ;}E B A4 B

(A) 256 (8) 257 (A) 256 (B) 257
() 258 D) 0 (€ 258 D) o
8. The angle between the planes 85. gHIT X+y+2z=¢ IR
X+y+2z=6and 2x—y4+z=9js
N - Zx—VTz:(_}%Eﬁ:qa:’TEﬁUT%
(A) T (8) T :
P} & () T () T
2 6
(© T (o) T - _
3 4 © I (o) T
3 4

5

- If  2cot?8 = cosec?8, then the general | ss.

afe 2c0t?0 = cosec?g W g BT =TS

value of @is T e
g1 i A i B T
W e D ® el “ nmt— ® LT ey
4 g e 3
(©) None of these (D) o+ © PIg 7 ® g X
AZEL _E 2 s Z

X



67. ! .
The value of sin (cas'l E) is
5.

(A) % (8) None of these
5
© 2 (D) 2
5 5
68.

cos150 sinl5

The value of determinant .
sin159 cos15

is

B 3 ® 3
Z
©1 (o) 1
2
. Thevalue of lim S~ will be
x—=>0 X
&) -1 8 0
© 1 ® o

70. The middle term in the expansion of

10
(x—!— 3 is

!

68.

69.

70.

5
(A 4 (B) His &I
5
© 2 (D)
= _z
cos15° sin15°
BT AF T
sin159 coslSD\
(A) 3 B 7
2
€ 1 o 1
2
lim S27% @1 A &
x=0 =X
(A) — () o
© 1 (D) ©

(x+31°%ﬁmﬁqwq‘c:%

(A) 306 (B) 252
(A) 306 (B) 252 © 152 ©) -300
(c) 152 (D) -300
I Hx) = iﬁthen thevalue of fi(x)is | & flx) = iﬂc o () AT T
e g <4 -~

a) 1 (B) i (A) 1 (B) 1

x x? x x2
() (o) 0 (C) 1 (D) o

X x
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™ The nf® term of the series -1, 3,-g, 27 __ T

28 4,8, 9, 27, @y nar 9§ ¥ |
(A)  3n-1 (B) —(—3)m-1

© (31 D) P 75

2 The nt term of the series -1, 3,~9, 27,

73

74.

i5.

is

(A) gn-1 (B) _(—3)n-1

{€) _{3}1@4- 1

The value of "8«/3? dx is

= 3

i ¢ o 75
(&) se® (Vr+1)+c

@ pevx (\!’E — 1) +C

(D) None of these

(D) None of these

A tanx+x+tc (8 —tanx—x+¢

© tanx—x+¢ O —tanx+x+c

The equation of the ellipse whose minor axis | 75.

. :
is8and e = Zjs

@ 8x2 4+ 9y2 = 144
(D) None of these
AT
The value of Em (1 + —) is
X =00 x
(A) e (B) o

€) g1 (d)o

W o7 L xec
(8) s
;e‘x(V'3:+1}~C

74.

A) 8x2 £ 9y2 = 149
B) 9x2 £ 8y2 = 144
© 8x2 1 9y* =144
0) 7 7gf

76. lim (1 Té)"m a9 2

X—=2oo

(A) e (B)

(9] et (D) ¢

u



78.

78.

80.

81.

The value of series
"Ci+"C3+"CoF o, is
(A) Zn—i (8) 2n+1

{C) None of these () 2°

If f(x) = 8x3 and g(x) = x*/3, then the
valueof (gof} (x)is

A) 2x () 3x2
© % (o) x
2

If 3=2{+ 4]—kand p= 3] 2]+ Ak be such

that 3 | b then the value of A is

(A) 2 (8) -2
(c) 3 (D) -3
The modulus of Z=-3-4iis
(A) 5 (8) 3
(€6 (D) 4

if ¥ =0 . then the value of 9
r — : 3

is

(A) 206 (B) 210

(€) 209 (D) 208

The solution of the equation

4sin™ x + coslx = mis

(A) 2 (8) None of these
73

(c) 1 (D) 1
x = = ¥ = 5

77.

78.

79.

82.

2rof
nC1+nC3+nC5+ .......... aﬂ- ‘:"::r %
(A) 2&—1 {B) 211—1-1
© o7& () 2m
Z‘ﬁ f(x) — 8x3 eﬁ? g(x) — xi!g ?ﬁ
(gof) (x) F1 71 &
(A) 2x (B) 3x2
© X o x
2

M Fo2i 4] kIR p=31-2j+ Ak TP
TR F TGIT T, A A P AA B

(A) 2 (8) -2
{C} 3 (Dj -3
Z = -3-4 FT 9UI® T
(A) 5 (B) 3
Q) ¢ (D) 4
gfr  10,~ = 10, il 10~ @
Cr Cr'—:z Cr
I
(A) 206 (B) 210
(© 2090 (D) 208
THIBROT 4sinix+ coslx=n B
Bl
(A) 2 (B) @®I5 &I
X ==
3
() 1 (D) ;]
x = — X =—
3
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If f(x-i—;)—xz-s—;,then f{x -q-% f(x—f— ;)—Xz—r;r ?h-

) is f(x)
(A) y2 B) x2_ 1 FTHE B
(A) 2 (B) 2 _ 1
(©) None of these (B) x2_ 9 * *
© o 7 D) x2_ >
84. The value of B {n—I}(Zn+1)é'Sn+1}{4n—1}
. e @I AT
- o—-1(2n+ 1B+ 1)@n— 1}is equal to nh_‘?; n* ¢
=yt 4
> . (A) 20 (B) 24
(A) 20 {B) 24
(© 26 (0) 28
(©) 26 (D) 28
85. 4 M yvi77 o 8s. 3 47 3 1 N
If 2}-3 i*jl y::f 'then the I 2!3 L;’+ : y‘;:f? Of?ﬁ x SR
> «i'[o 1}7[10 si 5 «1'[0o 1i[10 5!
values of xandy are y & T ¥
(A) 2,-8 (8) -3,6 #)::2, g ® -3, 6
(© 3,-6 (0)-2,8 @3 -6 P2y
8. The equation of directrix of the parabola |ss. WA x2 = —4ay b @ @y
x*= —dayis T &
(A) y =44 (B) y=-3 (A) y = 43 B) vy = 3
(©y=3 (D) None of these @y =4 D) g T

87. 8 -
i PW=2 , PB~2 ang

P(AUB) = i then the value of p(4/p)
is

(A) (B)

5 5
7 5
) 6 (D) 4
7 5

T P@y)= £, P(B) = = SR

P(AUB) = i B, ar P(A/B) & 99
g
(A) 5 . (B) 5
7 6
(o] 6 by 4
7 5
Page: 19
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88.

1 4 )
IfA=[2 3],’chen the value of AZ — 4A1s

(A) |
©o

(8) 31
(D} 51

8a. The value of

91.

92.

-1 2% i 27y .
08 COS";’ + sin Sln'g_ 1S

w T (8) 3w
3 4
0 T (D) 47
2 3
The value of

(cos® +isin8)*- (cos6 —isin 8)%is
) (cos@ + isin®)® (cos® — isin)

(© (sin® + icos®) @ (sin®— icos®)

If f(x) =v9 —x% then the value of dom(f)
is

&) (—oo, — 3] ® [-3,3]

© [3, )

0) (—oo,—3]u (4,%)

The length of perpendicular from a point

(2, 3, 1) on the plane
2x +6y-3z+16=20is

(A) 5 units (B) /15 units
(C) 6 units (D) 13 units

88,

91.

?Iﬁ{A=E ;;ﬁ A2 _ 4 BT A
g

(CYR | {B) 31

@ o (D) 51

(a T (8) 3w
] 4

@ I (o) 4m
2 3

(cos® +isinB)*- (cos6 —isin gy @

A B
(A) (cosB + isinB)

8) (cosB — isin®)
(© (sin® + icosB)

() (sinB — icos®)

'ﬂ'ﬁ f(x) =9 — x2 ?ﬁ dOm(f) Edl
A9 ©

W  (—o0,—3] ® [-3,3]

(o} [3, o)

©  (—o0,—3lu(4,%)

g (@ 3 N¥ wwEda

2%+ 6y-3z+16=0 R A T T
P AT ¥

(A) 5 FHIE (8) /15 9IS

© 6 3PS (0) 13 FBIY
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T .
T

9. The maximum value of function |9 wag f{x}ISX‘%—ng%Ex?‘— 48x + 25

fx) =3x*—8x% + 122 — 48y + 25 0,
) =3x* - 8x° + 12 e 2 on | B FETH A [0, 3] W ¥ |

3lis (A) -g (B) 16
(A) -9 (8) 16 © 25 (D) -39
{c) 25 (D) -39

o If flx) = a” thenthevalue of #(x)is %4 gfer f(x) = a%, @ f(x) @ A9 &

(A) a* (8) None of these () a* (B) I Tf
log.a log.a
© a®-log.a () x%log.a (© a*-log,a () x2]og,a
95. The vaiue of o 95. ;XUXQ}—‘—I?(QA?)HEA{Txg)W Iy
P (jxk)+ jx(kx i) +kx(ix])is () 4 ® o
{A) 1 (8) 2 © o (D) m :ﬁﬁ
o () None of these
%. Which one of the following is a scalar|ses. =1 ¥ ey e T -
- matrix? (A) s 0 (B) P 7T
A} Te o7 (B) None of these [0 3!
L0 3] © [-8 07 0) 1 17
i i I
(© (_g 07 ®) 1 17 |0 -8! |1 1]
lo -8 1 1]

7. The solution of the differential equation |o7. AMThT BT 5_; — ¥ty BT B &
dy - e.x'—y is ax

dx A B T (8) eF _ &7 =

(A) None of these (B e* — ¥ =

L (W LONTERE

(C) e?: 4 e—y — C (D) e:{ i ey - C
(C) ex—fr e_y — C (D) e_z); + e}g — C

gl
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The value of I - r___dx is - dy @1 "4
3 Jsinx ++/cosx 3 vsinx ++jcosx
(A (8) * (A ) 7T
6 2 6 2
o o T @ T o T
3 4 3 4

% If in the AABC,a=1b=2 £A=30° s iy AABRC ¥ a=1b = 2

then the value of £Bis sA=30° @ ¢B @1 94 g

Fia
(a) B = (A)

2

() 7 (©

(B)

s
2
() -

(D)

SR
AN

00.4f ¢ o= 3x3 4 % — 6log.x — z. Then the | 190 af& y = 3x*+ % — blog.x — z. ar

value of j—i-at x = 3 will be x=3 ® %arqﬂ?rrn
(8 293 8) 239 (A) 293 (g) 239
3 3 3 3
(o 307 (D) None of these (© ﬂ D) B &
2 2
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